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5. (35%) fRFERE
(a) monopoly
(b) public goods
(c) Engel curve
(d) marginal rate of substitution
(e) indirect utility function
(f) Arrow-Pratt measure of absolute risk aversion

(g)-minimum efficient scale

6. (20%)(a) Define the elasticity of substitution.
(b) What does the elasticity of substitution mean?
(c) What is the elasticity of substitution for the Cobb-Douglas production function
f(x,x)=x7x;" when 0<a<1?

(d) What is (he elasticity of substitution for the following technology?
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7. (20%) The production function is f(x)=20x-x*and the price of oul’gut is
normalized to 1. Let @ be the price of the x-input. We must have x20.
{a) What is the first-order condition for profit maximization if x>0 ?
(b) For what values of @ will the optimal x be zero?
(c) For what values of a) will the optimal x be 10?
(d) What is the factor demand function?




